CALCULUS
Antidifferentiation problems
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. Find all antiderivatives in x of

—2z3 —+ 72 + 5.

. Find all antiderivatives in t of

(—2Vt+7V) 13,

. Find all antiderivatives in t of

Jt+ 8/t
5

. Find all antiderivatives in v of

4eV — CcOoSv
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60-5. Find the unique f(z) such that
() = —52%—92°4+2 and f(0) = 4.
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60-6. Find the unique f(z) such that
322 + 4
fl(x) = —
x\/x
60-7. Find the unique h(t) such that
h'(t) =2sint —7cost and h(0) = —4.
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and  f(1) =0.
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OLDg30—8. Find the unique p(t) such that
p"(t) = —et 4+ 12¢3, p/(0) =3 and p(0) = 1.
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0560-9. The graph of f is shown below.
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Which of the following could be
the graph of an antiderivative of f7




0560-10. The graph of f IS shown below.
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Which of the following could be
the graph of an antiderivative of f7




0560-11. The graph of f is shown below.
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Which of the following could be
the graph of an antiderivative of f7




0560-12. The graph of f is shown below.
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Which of the following could be
the graph of an antiderivative of f7
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0-13. A particle travels on a number line.

UppPoOSe
its acceleration at time ¢ is 3t2 + 2t — 6,

Its position at time 0 is 2
and 1ts velocity at time 0 is —3.

Find an expression for its position at time ¢.
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Q 60-14.We drop a heavy ball out of a window
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in a tall building. Its speed at the moment of
iImpact with the ground is 160 feet per second.
From what height was it dropped?




